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* |Isit possible that a certain preconditioner
and iterative solver is the best for any
problem?

* |Isit possible to find an optimal iterative
solver and preconditioner without actual
computation?

 Arethere any public computation services viathe
internet?

Test of Iterative Solvers

» TiS is an internet calculator for solving Linear
System of Equations Ax = b with preconditioned
Krylov subspace methods.

» TiSisatool for finding appropriate precoditioner
and iterative solver for a given Linear System of
Equations Ax = b with no programming effort.

» TiSis ajoining project of users, researchers, and
ITBL administrator for making a new research

community.

TiS: Test of Iterative Solvers
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Iterative Solvers & Preconditioners
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« |t depends on computing environment

It depends on Grid scheduling

¢ Only waiting to finish

Total Time="“Time of basic operation” *
“number of iterations”
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